N = 0l & At & Ml A

2018 & =04k LBHSIHLJIEISESIH, SIS EE3H EHDSMOIS
2AHd: BN MOISD
M HMSISHM #=
Celt MR 23 8 CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HM IS MOIE 13,357,950 11,612,372 1,745,578
= 68,674
Xl 350,000
J| 342,367
< 272,298
Al 12,324,611
M SHMN 5 1,354,785 1,022,266 332,519
= 16,900
< 70,500
Al 1,267,385
BMNS 23 =t 1,354,785 1,022,266 332,519
= 16,900
< 70,500
Al 1,267,385
AN BMISE 2 29 473,780 389,880 83,900
201 Let24d] 97,480 120,080 A 22,600
01 At 22l 50,480 58,080 AT,600
ogdss 2 clE28 MZE  1,000& *2,0000H 2,000
ommss T2 DI M
5,0003 *200& 25 2,000
OYgrANBMersZY SHOIX KA 2=
500,000& =122 6,000
OO0tz OtS8 28 29 ul ¥ W=l
600,000& *10JH O = *23| 12,000
od=stsitxen 29 M=l
500,000& »322 &t 16,000
OBMSS T2 Y L HULT3
1,500, 000& *23| 3,000
OSZNEsEs HA Xz 500,000& x123] 6,000
OHMISES YV A 4o
70,000& »23] » 1,680
OXE BMIS Z203 2g(2Xzl)
600,000 301 2+ & 1,800
02 =224l 2,000 2,000 0
COBMeEEST AL S 3l 2,000,000& =13l 2,000
03 A2 Z Hl 45,000 60,000 A 15,000
OBHYET FMSS 28U &I}
,000,000& *13] 2,000
CIEEIE-IEEEEE 5]
12,000, 000& * 13| 12,000
O ZoHe0tE & FTA d 2ol A
,000,000& 23| 6,000
OYZAl BHsts H0HE JH A
20,000,000& =13l 20,000
oBMEsII2 UWERD 23 A3
5,000,000& x13l 5,000




A BENSAMOISL
Ha: BASSHE 2
Chel: BMUS 23 &t (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 15,000 0 15,000
03 =220l 15,000 0 15,000
OGNLC =AM alel &A(AIZ) 5,000,000& 3 15,000
203 YR =&l 3,000 3,000 0
03 A FXH S =AY 3,000 3,000 0
OBYUWSMOE AYL FA
200,000& »153] 3,000
207 Aol 28,000 28,000 0
02 & &R I 28,000 28,000 0
OAOIH WEZ2 0 2H(JF DA, BB
) 1,400,000& x10@ 20l =2 T & 28,000
301 et d = 258,300 135,000 123,300
06 212tol=2l 04 dl 30,000 0 30,000
OEMIE I HLF FI(AIH)
5,000,000& x6H 30,000
09 AL HIZ A S 18,000 8,200 9,800
OoO¥=ssAxstn 2F 24
10,000& x20H *53] 1,000
Osg=Zolietire & E&Al del 2o A &
DX AHIE & 2,000,000& »23| 4,000
OBHLET FMSS 28U N AHE
& 1,000, 000& * 13| 1,000
OWEY= Bastasas #IT2IY 2
80,000& x10H x5 4,000
O"Msts SH0tY FIHA &dl24
200,000 x30&! 6,000
O"Msts SOty RA2IX sS4
8,000 *5000 2 A +5Y 2,000
NMIIEEd=s 210,300 126,800 83,500
OX0tIt= Otset=281 ZAZ
35,000& x170A1 2k10JH Ot 2 59,500
o= N 23 2AZ
600,000& 302 &t 18,000
OANR2I=Z0 ZAZ
70,000 83| x31t & 32 £+ 1004 & 50,400
CEMISESI g5+ (LX)
25,0003 x202 «10& <10 50,000
OFE MWK T2 )3 2H(2XNal)
270,000 *402| 304 2 &t 32,400
307 glz2tol & 72,000 102,000 /30,000
02 It M AMHEE 72,000 102,000 A 30,000
Ot Msets 24 T2 XA (I 2 S,
st5s0kael) 1,000, 000& »22 &t Xl 22,000
OUis, Jl2 &M A Bysts d2 2208
2 10,000, 000& *27H 2| 2 20,000

-2 -




<
= __A:_m o
W w
S=m
< K
e
ERUNE!
20 20 20
70 50 50

2N
X ZH

_.\
0

£l

o o o o o © o o o o o o o o o o o o o
o o o o o o [ee] [06) (@) (@) (@) o o o o
Q| ©|® Qe |@ < R B < <
= < | < | < o | << o |lo o | < | < o |o © |©
» 4| <|d 3 213 S |= SRS
Klo
E|
E=]
o o o o o © o o o o o o o o o o o o o
o o o o o QQ [{e) o © o o o (@) o o
< < < (e} (e} ™ o ()] — o o © [¢e) © o
g < s <z g |0 | N EN o |lo | <
WH3r o N
uilEd!
Pdk=
o o o o o o o o o o (e} () o o o o o o o o o o o o o o o o o o o o
o o o o o o o o o o [06) (<o) o o o © © (V] [eN) Al o o o o o o o o o o o o
S S|9e |9 |© < SHESHES] SHECH Rl RS S S - — || oS |3 |S & S S|13 |2 SHESHESERS
= KRB ® CIN|N N - - o NFIF T|ISITIS8 B @ ©|18 |8 S| |©° «©
(aV] [V NI\ [V —_ |- - — |~ —
=
o
<
=3
oll 7 Gl o a a o] o] o ~ il ] T ol
B N S k1 ¢ 2 S ¥ S S X N
= = * * = - * * —= * * — *
L z £ 5 sz 3 5 3 & .
= o S — S * S [re] © * S z O =]
0 w5 7S g —c s S S e o] S " S
A 38 %8 =9 =8 Eol= ST= Q o S RS =8 S
. B2 5 x =3 o © s 2 x & S o B e 3
mo Mg — of = - ™ o —~ od S - o
a TS S Xg 923 o —~ o =) S S e o S
F |r- T ~ " @ - - ud
= ¥ N oM m_ﬁ ww o ok 5
|y W Rl 5 = <l 0 rio = <+
— i _ _ _ & n - <+ n od iy
= ¥ gz s = =] s N x = ﬂ 0 a0 =
= T A = = = iy 80 R A al Mo oY - Ok
= 5 = S W % = W o |5| ow
wf_ H ar o | Wr r noor T |T M [z =) no|no = 30 o |D B = <D o T 4D I+ <l
i — Jo _ |8 | @0 0 e I 5 5 |8 |B ~0 R0 B0 A0 20 |20 A0 w2 |m o B0 dor | B K or
- RI 73 @l mm b |f R Rl S |k R o b |F ov ] ob  ow M| H o O |A 20 oy 0 = | 20 T |z
R == R/ ol for oo o A | Ao |0k S £ H = 3| S |A | |0 & M = t | @ w | #
kK0 |O © g0 |l | © © ol |al © mlol [ © © 0 © N |~ O |l |< ©O FH O 3 |8 O < |< O
. |- |= ~ | v N | = [= N el B o | = | = o ~ | — — | =
— o o o () - o o (e) o — - o o o o o o o
X oJ Y] ™ ol [aY ™ Z0 N N <
I+ Kk = 0




(@) o o o o o o o [Te) o o Y]
S 3|8 S S S S Q &3 S
~ o o |lo o o o © o o o
no = [N 1) 1) %) ~ - - -
Kl < < | <
El
E=]
o o o o o o o o o o o o
o o o o o o o o o
o o o o o o (@] o o
~ ~ ~ == |c - o |o
— — — o [aV] N o0} o0}
H3r ® NN
m<l
RS
o O O o O O o o O o o o o o o o o o o o O O o O O o o o O n O w o O O (@) o O O Y]
o O O o O O o o O O o o o o o o o o o o O O o O O o o O O Al O Al 0 W0 O [Te) 0 W0 O N~
SOuBEmB|d VBSOS & S SIS |e SIS oo |oS3|d S99 M eN|e LN©  © S A|©
M@~ ooIn ~0ol o D] g T T2]2 28528528 352 gerpgove ©owolo
[a\] [aV] [aV] [a\]
=
o
<
(=
H =< H =< H =< H = H=< H =< m= m= m=
m o K o o < <
= 5 B = N =
or : = Wi = Y 7
0 @ b w8 @ in & A
=) D & N o _ S <
Bl S 3l S s =S =
. s * 38 RS 0| W 8 Y
| my 80 < W 1 N H < [}
= - R G X | a3
o Ol O = | = =
— = = o .
= =] =] S | o o)
: omm 4 4 = | =
— ior ior B 3l
= ki @ 2 2 R ke
SR B 50 50 ! H o s
o | ™ ] B0 _ w K0 = o il o
& = =< oH - W A 3J < =
j} 7l 20 dr o Ke KF i Ll 0 o < Lal
- n > &0 30 o Al ol = R > R0 oir >
Rl i N Ao = OF Kk KF m) o A & El m N
R0 ol 5l © 4D <z O © ~ o 3l a3l © s ~ 5l
. 5 S o 5 = r 5 S e S = S
g a0 ™ 20 Ol I} oJ » >
I L) 50 = X0




FAH
N FH .
o Tt o
eel: 3

M MOtS D
dSsHM 2=
H=F 23 =t

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 8,450
Al 4,225
02 QIZ2IA AAIE E X 12,675 0 12,675
OHR2HNE KA (EX)
12,675,000 =10 2 12,675
= 8,450
Al 4,225
DM EMd3 Z)d 29 50,000 0 50,000
& 15,000
Al 35,000
201 LBt 14,000 0 14,000
& 4,200
Al 9,800
01 AP 22| d| 14,000 0 14,000
OBMIE S45 T2y 29
1,400,000 =102 14,000
& 4,200
Al 9,800
301 LBt A= 36,000 0 36,000
& 10,800
Al 25,200
11 JIEtE A= 36,000 0 36,000
OWMINE EMdg Tz ) A
100, 000& 40 Al 2+*93] 36,000
& 10,800
Al 25,200
WEME X 6,971,240 6,477,178 494 062
= 129,641
Al 6,841,599
WEME & 6,971,240 6,477,178 494,062
= 129,641
Al 6,841,599
st =34 A& 5,909,916 6,038,250 N 128,334
201 gBt2A | 7,120 5,320 1,800
01 AF 22| H| 7,120 5,320 1,800
ORSHY MolFAUs HALY
70,000) 2H x23| 280
OYIANDNESLNIARS &Y
70,000 *9H *43| 2,520
OY XAl CHEtMSHIZ20| KSR Alog &AM
= 70,000 *8H x23| 1,120
OYZXAl HE&AUAl 288G E2 49 M2
50,000& *160H x23| 1,600
OUE M ST HS0NXY S8 40
50,000& *160H x23| 1,600
207 A O | 40,000 0 40,000




AN BYUSMOISH
g SMHE X&

?? WEMHE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2284 40,000 0 40,000
OWsZHl HOAMY HSUEH SA(AH)
40,000,000& =14 40,000
301 LprE a3 21,600 51,260 £.29,660
02 ¥et=stit= 20,000 50,000 A 30,000
OHstd stXt=a &0 XI& 20,000,000 20,000
09 &AL HI B A S 1,600 1,260 340
OWXd 2 ARE s & S22 2tg 3|
N = 8,000 20 103 1,600
306 =43 500,000 500,000 0
01 &3 500,000 500,000 0
OogdEss s Jl=s £9=
500,000,000& *13l 500,000
308 XXM SOIA 5,341,196 5,461,670 N120,474
07 IXNSHH AR S = 500,000 400,000 100,000
OSHUMSAMY RS (MSEEEA FIt
EY3) 500,000,000 x13] 500,000
08 WEII20UHStE X 4,841,196 5,061,670 N 220,474
OdA=0usdy 2¢
264,000,000 =100 2 264,000
ogdlt= WY
5,880,000& *51J4 12 +120,000& 300,000
OJIx=sr&E MU 2t 4,000,000& *1401 56,000
OS=xusSUHYdR SsuUs T2 2F
16,750,000& *3J1 2~+50,000& 50,300
OgduNsEXEdE dHUsSH 23
48,000,000 = 10H 2 48,000
Os0E Ssxd 29H X2
44,625,000 =8I 357,000
ostdEAE2s 2EXF 2,500,000 * 1504 1 37,500
O=Hu=z3s WsEdid
20,000,000& 291 1 +10,000,000& *4J 80,000
OYdROIME Z208 2 L AIEELH
40,000,000 14 & 40,000
OXt=sIIH 29 K& 7,000,000 *1401 98,000
OO0 JUSEEXdH 88 =590 u=
1,236,000& »14H x10&-40,000& 173,000
OQtM st st H=E HHISH =29
24,000,000 104 & 24,000
o=stn ST 4,000,000 =104 2 4,000
O&2stwae|IlALg 50,000,000 *6IH 300,000
Ounsstu SIIEY Jgds T2 182
75,000,000 *8JH 600,000
O=2=2Y =4S A% 1SS o2 A
23 g¢Y 62,500,000 *8JH 500,000




AN BYUSMOISH
g SMHE X&
gelr uSHE X

2N -3 -2 (SH) - NHEAMY - BES Ol &F o4
ONASZE SxAd eoisoi=
200,000,000 * 174 £ 200,000
Ot Al He5 9,000,000 * 13l 9,000
omEAR U ESRSY
1,500,000 *97H W +5,000,0002 *674 1 43,500
oozolY #A Z2IY 29
9,000,0002 * 174 2 9,000
ONUZE 23 - Mz ZRIALY
23,000,000 *1H 2 23,000
OZEE 2SN T2 UL
22,000,0008 *17H 22,000
OREZE 230z S0t22Y
18,000,000 * 174 22 18,000
ONMExE StAE=x Z2)AHR2H
8,000,0002 104 2 8,000
ONgE AEX U 2350z T2IULY
13,000,0002! * 174 13,000
OsdE ZHEA HE Z2IH=y
4,000,0002! 124 2 4,000
OMEZE #= THR2E 4,000,000 101 4,000
OMNBZE MEBHS Z2IURY
4,100,0002! 104 2 4,100
ORTx Hoj4st Y ATDEY0 ZRIBSY
7,670,0002 14 7,670
OFE HE2S3 SH3 Z20Y 29
17,000,000 *17H 2 17,000
OEBSZE AMSHMEY Z2IURY
34,000,000 *17H 34,000
OBHE SHDSSHESD 29
37,000,000 *17H 37,000
OBEXE (25 ZRI¥LY
27,000,000 *1JH 2 27,000
OBUE 12102DS T8
21,000,000 *1JH 2 21,000
OBAS HYLAVT 29
3,000,0002! 174 3,000
OZTHED FFA 2ADLYTA
77,150,000 * 14 77,150
OZTFED NAFUFYDSIIS F2HDS
T2y 6,400,0002! * 14 6,400
OBCIMED 20188HE ERIZI1Y 29
25,000,000 *1JH 25,000
OBSHMED NAEUS A8 S0&E ABSE
/¥ 8,000,0002! 104 8,000
OZTD YT AA - 2E Y Z2IURY
3,500,0002! 104 3,500
OZTD M 247 &
48,690,0002 *1JH 48,690
OINXE MBE ANENE 74,100,000 10 74,100

=

i
2m




AN BYUSMOISH
g SMHE X&

?? WEMHE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ogd=x M2 AL (LED) A
16, 100,000& *1JH 1! 16,100
OHYx 2SH IME =4
35,000,000 =101 35,000
OSNE U=sHLE 2UHZE &1
17,000,000& *1JH ! 17,000
ORYE =TE HiSE4 Y 0SA =70 1
H 36,575,000 =101 36,575
OFU=E MeH=O0IAIE BIEZA
12,698,000 *1JH 1! 12,698
ORdYE MASE NMH &t: Z2H2Y
17,000,000& *1JH 17,000
OsME 2% EUHSFML (WSS
312,506,000& 170 1! 312,506
Ogdl 2% UMY & SSHZ2(FIHE)
HUIML (HSEA) 83,653,000& =101 83,653
OSM1L SAA SFAG(HEEX)
489,170,000& =101 489,170
OtEx 2S& U ME(HSEX)
142,584,000 10 1! 142,584
Sty WEEHAY XA 240,924 438,928 A 198,004
< 89,641
Al 151,283
307 21201 A 61,543 81,958 A 20,415
< 20,514
Al 41,029
02 IZtE S AHE L 61,543 81,958 A 20,415
OXSALE F=LASHSH
12,308,600 «5H 2~ 61,543
< 20,514
Al 41,029
308 A EHHSOIA 179,381 356,970 A1T7,589
< 69,127
Al 110,254
08 WSEII20HetE = 179,381 356,970 A177,589
OS&sR a0 2xelad K& 4,549,050& x20H 90,981
< 30,327
Al 60,654
O%D DA BN, =0 BSO8 B
26,000,000 14 & 26,000
< 13,000
Al 13,000
OXtRsdEM, MdZ2HE 2EXA
2,142,850 x 14 W +100& 30,000
< 15,000
Al 15,000
Ot=zt 0108 30 2A=0 u=s
8,100,000 «4J4 w 32,400
< 10,800




AN BYUSMOISH
g SMHE X&

e n=HE I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 21,600
HEWRKFAY FA 820,400 0 820,400
& 40,000
Al 780,400
201 gEt24dy| 5,600 0 5,600
01 AP 22| H| 5,600 0 5,600
O89 s EFA ¢ 70,0002 20 x4 3| 5,600
301 et A= 2,000 0 2,000
09 HAIAHI BEAZ 2,000 0 2,000
O89s Ol2nsE22sAd &KX AS
50,000& 20 *x23| 2,000
307 2izto| A 80,000 0 80,000
& 40,000
Al 40,000
02 QIZIA AAIE E X 80,000 0 80,000
OdLIZ #= AlRIsty 29
80,000,000 =14 A 80,000
& 40,000
Al 40,000
308 XHXIGH SO0l & 732,800 0 732,800
08 W=Jl&otistE = 732,800 0 732,800
OHEWNFK ALK 22t 15,800, 000& = 1Al 15,800
olls=ssld2g9nid
100,000,000 =14 A 100,000
OUANESESSSHAH 35,000,000 =104 &~ 35,000
OFxHMNNHEHLT XA 42,000,000 =10 A 42,000
ou=szsM=2g XN 45,000,000 * 104 & 45,000
oJl=dT2dIH 20,000,000 =104 &~ 20,000
OHEAN2IHSI WS
100,000,000 =10 A 100,000
OWREAILER= 150,000,000 =104 & 150,000
OAQNIESISA = 100,000, 000*1JH 2~ 100,000
OstMESOotel X & 30,000,000 * 104 & 30,000
OYXEHONESNEA 75,000,000 =10 A 75,000
OMSNEXNPAY dUed 2H(2FH|)
20,000,000 =10 A 20,000
HAEET] 1,891,172 1,217,819 673,353
= 51,774
Xl 350,000
J| 342,367
& 49,355
Al 1,097,676
AdEALAE FEH ES 222,461 197,702 24,759
= 51,774
J| 8,700




2N
X ZH -
L= B

el

NS MOSD
FAEET
AdFALE SH 235

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 10,280
Al 151,707
HAVRHAEH 24,660 20,040 4,620
201 Bt 49d]| 19,000 15,600 3,400
01 AP 22| H| 17,800 12,600 5,200
OFHAEE Y3222 5,200 x1,5000H 7,800
O0ls 3AUES s s =222
2,000 x5, 0004 10,000
03 A2 HH| 1,200 3,000 A 1,800
OFAHNSHI 2H(Y=F) 30,0008 *40H 1,200
301 et A= 4,160 2,940 1,220
09 HAIAHI EAZ 4,160 2,940 1,220
OHAEDBI(AST) SAHl
8,000 *3A! x40H 3 2,880
OFAHE EZ23 gAlH| 8,000 23| x80H 1,280
307 giztol A 1,500 1,500 0
02 QIZ2IA AAIE E X 1,500 1,500 0
OFAEKMHEHZAIE 1,500,000& 13| 1,500
HAESEALE 2N (HaEd-HAAA X A BIX 46,584 42,720 3,864
KNEAE)(EX)
= 23,292
Al 23,292
101 Q124 H| 46,584 42,720 3,864
= 23,292
Al 23,292
03 RIAHA*ZZXHE S 24 672 0 24,672
OFAMAEAX AL BHXI XIS AFY QI HHI<E S >
1,826,000 x12& «1H 21,912
= 10,956
Al 10,956
OHAEAX T A BIXIXIRAIY HRHAHI(EE)
230,000 x1238| x1H 2,760
= 1,380
Al 1,380
04 JI2ZtHIZ2 2 NEE S 21,912 42,720 N 20,808
OFAEA XN X HI XX & AFY Q1 ABI<EH &>
1,826,000 x 122 «1H 21,912
= 10,956
Al 10,956
NEdAYE 207 S (HAEHEFHRAKS)(EX) 2,800 6,800 A 4,000
J| 1,400
Al 1,400
201 LBt 1,680 4,448 N2,768
J| 840
Al 840




2N
X ZH -
L= B

el

NS MOSD
FAEET
AdFALE SH 235

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A2 Z Hl 1,680 4,448 N2,768
OFALHENWARZSZ 2F 42,000 40 1,680
J| 840
Al 840
301 et a =z 1,120 2,352 A1,232
J| 560
Al 560
09 &AL HI B &S 1,120 2,352 21,232
OFAHEWRAE SAHl  7,000& 40 »43] 1,120
J| 560
Al 560
dAHESAE 26,500 6,500 20,000
< 2,000
Al 24,500
201 Yet2 b 24,200 4,200 20,000
= 1,300
Al 22,900
01 At 22/l 20,000 0 20,000
o&dA4E Sotel 43 At 20,000,000& 20,000
03 &Ar2 Gl 4,200 4,200 0
OFAHE +BES SYH 4,200,0008 *13] 4,200
= 1,300
Al 2,900
301 YetE A 2,300 2,300 0
= 700
Al 1,600
09 SAAHIEA S 2,300 2,300 0
OFAY =HES Z4lHl 2,300,000& x13] 2,300
< 700
Al 1,600
HFad Sotel NJA(BEX) 8,305 6,250 2,055
= 3,322
Al 4,983
307 2I2+0| & 8,305 6,250 2,055
= 3,322
Al 4,983
11T M SXASEX 8,305 6,250 2,055
OdAESOtel 2HXE 830,500 100K & 8,305
= 3,322
Al 4,983
HAUSBAL 2YX 2 28,800 58,700 A29,900
201 Let24d] 28,800 29,200 A 400
01 AtR el 28,800 29,200 A 400
OYTHEAE LUS0IH0 Aot IE AxE
A& 100,000& » 162 16,200

_11_




2N
X ZH -
L= B

el

NS MOSD
FAEET
AdFALE SH 235

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
ogted AW WSO 0l HIF X dX2
X & 100,000 x 126 12,600
HAEoE J1E EBI=EAM 16,692 0
201 gBt24y| 7,692 0
03 A2 EH| 7,692 0
OFHAEHE2S=EM HNERA &9
769,200& *103] 7,692
301 et A= 9,000 0]
09 HAIAHI EAZ 9,000 0
OHdEI ¥ HA =™l 6,500,000& x4l 6,500
OFAE2SFHM FHA L MNERI 4|
5,0008 103 *50H 2,500
FAENESE 0" XNR(EX) 24,000 A 4,000
= 9,600
Al 14,400
201 LBt | 18,000 A 3,000
= 7,200
Al 10,800
03 A2 E HI 18,000 A 3,000
o2 0Y HEgeA &9 2,000,000 x63| 12,000
= 4,800
Al 7,200
o=sgly ZAH & 49 H&
1,000, 000& 63| 6,000
= 2,400
Al 3,600
301 et A= 6,000 A 1,000
= 2,400
Al 3,600
09 HAIAHI BEAZ 6,000 A 1,000
O=20Y 32|, MR ZAH|
500,000 63| 3,000
= 1,200
Al 1,800
o=sgiye 82 S HAYE EOHY|
600,000& *53| 3,000
= 1,200
Al 1,800
METH, ALXNE S 44 SEIJI(EX) 9,000 A 1,000
J| 6,300
Al 2,700
307 QI2t0| & 9,000 9,000
J| 6,300
Al 2,700
11T A EXAIEEX 9,000 9,000




Rl

oF

aJ

(]

T
_||,,||_

X0
W o
a
TR
O or <
ERIE]
20 <4 &
B0 R®O XJ

2N
X XH
L=}
=

o o o o o o o0} e} [aN] Al
o © © [eg] (e}
< ~ ™~ N N
|_Jr_u <t N [aN] — —
KIo
E|
=)
o o o [e] [e] o o o o o
o < < [<e] o]
o < < Yo} Yo}
ol — —
H3r
uiEd
Pak=y
o O o o o O o O O () o O O o O O o o O O o o O O O Al A< (o0} 0 Al Al < Al O O O Al Al O © ©
o O O o o O < NN < < NN © 0 © © o o o O O ©O© OO O © | © © OO O 0 o O O — (e} @ O O —
SeOR|IS SSILTNN|Y T HANL AL B AA|S S9SN DOaIN KOO0 dOHOo|d A OH o
» © N | — — | — — — < — — |« — | N — | — — —
ar
<
=
~ =< = = = = = ~UH= LS ~UH=< ~UH= ~UWH=<
l u i o o ~ 3 24
* 5 <R = o = d =
7 Hl o m o o o
D.__. o o 4] Ok 1jo; i
= & 53 == 30 _ 80 =
X0 = - o = RIS or <
0o = 3 o= S 0H I~ % 5
! S p] b3 w0 © - L - 80
. ; < I = = 303 RIS
a | i %0 w0 =< o o0 30
= il m M o - -5
* 0 <4 In] ™ <k o] < ol S
LI (1] ) A H ) ot NG
= Mo . . < oF oF
. I Ho w w ®0 B0 30
-~ |< — < < -
= = = 0H 0H
= 7 oK ) ol 30 0 0
@.\ = WAO <k fo <k 0 = m =
il E o | 0 ™ t 7l 0 &
& ur E o o < no H < ~ o o <t no H <
] RN B0 30 RO 20 T R rS) 30 30 ™ 20 T m
- <4 =2 0H 0l Mo izt A [ ®0 0H b <4 iy M <
I ) i) wW Bl < M o) < Mo ul o < R o) < R
R0 |O <+ o al " O al H O A~ all ®H O all H O
. T — 2] - o)) RO Kq — 0] - o)
- o o [e] o o o o o
g < 70 IV » 3 ™ IS¢ I}
H__v RO ] ==




2N

X{ XH -
S =

NS MOSD
FAEET

Cel: AWMLY R4 25 (SHol: @)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HAEALXE 29,120 0 29,120
= 14,560
< 7,280
Al 7,280
307 gl2tol & 29,120 0 29,120
2 14,560
< 7,280
Al 7,280
01 2222l 29,120 0 29,120
ONASE HdE8ad AMES &
29,120,000& x 13l 29,120
= 14,560
S 7,280
Al 7,280
FAEESYE 2¢ 564,842 566,734 A 1,892
J| 153,332
< 216
Al 411,294
HAW YDS OO0 2Y(YA)(BX) 151,532 150,238 1,294
J| 75,766
Al 75,766
101 @124l 67,528 67,896 A 368
J| 33,764
Al 33,764
03 RIHAZZ N E =+ 46,320 0 46,320
OYa &= OF3t0I0l EAEXIE AL Q1 24H|
1,930,000 »2H 123 46,320
J| 23,160
Al 23,160
04 JIZEHZ22XRHEE S 21,208 67,896 A 46,688
OY& &= O3t SM I 24 H]
1,584,000 18« 12& 19,008
J| 9,504
Al 9,504
Ogd &= OI3tCI0l M EAXE =
2,200,000& x13l 2,200
Jl| 1,100
Al 1,100
201 £B-2dH| 22,470 44,248 A21,778
J| 11,235
Al 11,235
01 At 22l 15,562 14,200 1,362
OFHIXE LX 2 100,000& 66 Y 6,600
J| 3,300
Al 3,300
Ogd gut= otatdlil A28 =
400,000& *13] 400
J| 200




AN BYUSMOISH
g FaE=sR

el BAUSHAE 29 (sl &2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 200
O 2tatE oF2tdial AR ES
300,000& ~12& 3,600
J| 1,800
Al 1,800
OY X Y5 O3t0I0 E22 M ZE
2,481 %2 0000H 4,962
J| 2,481
Al 2,481
03 A2 E H| 6,908 30,048 N 23,140
ogdl g M2MNEEHS 29|
35,500 x28Fx48 Al = 3,408
J| 1,704
Al 1,704
OEYZX Y5 ofH HHEE 87,500& *40H 3,500
J| 1,750
Al 1,750
301 et A= 61,534 38,094 23,440
J| 30,767
Al 30,767
09 #HAIAHI BAZ 38,394 38,094 300
OZ& gats oF3tdlal S4ldl
3,700 *»40%H 228! 33,744
J| 16,872
Al 16,872
Ogd Zit= O2tdiol =2 HME =44l
5,000& x40 *123] 2,400
Jl 1,200
Al 1,200
OZ& 2= Of2tdI0l HEZXZ = AH|
6,250& *40Y *6 3] 1,500
J| 750
Al 750
ogd 2= ot2tdiol d & WEHI
250,000& »3H 750
J| 375
Al 375
11 JIEt2 &= 23,140 0 23,140
Ogdl 2= oF2tdial JI238 2A 2
30,000& #2BF*x178 Al %= 10,680
Jl 5,340
Al 5,340
OZX HiNs M2HEES(TZ) 2A2
35,000& #2178 Al %= 12,460
Jl 6,230
Al 6,230
HAYE gs 00l 2 (8Y)(BX) 155,132 153,838 1,294
J| 77,566
Al 77,566




SN BMDSMOISY
=R PNEES

e HAEUSSIoE 29 (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
101 2124 4| 69,480 67,896 1,584
J| 34,740
Al 34,740
03 RIAHL*ZZXHE = 69,480 0 69,480
OBY HAW LS OG0 HFAHKEA
oA d| 1,930,000& »3¥ ~12& 69,480
Il 34,740
Al 34,740
201 Bt 47,408 47,848 AN 440
J| 23,704
Al 23,704
01 At 22l bl 17,360 17,800 N 440
ogy git= O2tl0l HOtX g Az
100,000& 102 10,200
J| 5,100
Al 5,100
OE<E 2Hits 0240l MolEE =
400,000& 13| 400
J| 200
Al 200
O&Y 2utE o2tdial AR ES
200,000& ~12& 2,400
J| 1,200
Al 1,200
ogd ¢is otuo 22 MZE
2,180& %2, 0000H 4,360
J| 2,180
Al 2,180
03 A2 E H| 30,048 30,048 0
OBS YIS O5HHD JIZIBE BAR
30,000& *28F«178 Al %= 10,680
J| 5,340
Al 5,340
o8y dills MSHEES(FET) A2
35,000& *28F*«178 Al %= 12,460
J| 6,230
Al 6,230
O8Y dils MSHEES(FTL) 2A2
35,500 x28F*48 Al 4= 3,408
J| 1,704
Al 1,704
OSY Y9its ofH e 87,500& *40H 3,500
Dl 1,750
Al 1,750
301 et A= 38,244 38,094 150
J| 19,122
Al 19,122
09 HAIAHI BAZ 38,244 38,094 150




_.&
oF
0J
30

& ]3]

o RD

S ol

T RO

O Tr op

=Hmom

20 <4

B0 &0 RO

X &l oF

Ik RO )

o o o o o o
[QN] [aV) [eV] N~ [Te) [eN]
N © [N ©
A SRS ° | >
KIo
E
=)
[e6) o o [e6) [e0) o
o © © ()] Yo} <t
o [eV) [eV) o) ™ —
o | o |o o | © o
< w [Ye] © — <
H3r -
uilEd!
Pdk=
< AN AN o o O o O O o O O [e0) o o o o o o Q [e6) o o o o o [e6) o o o () o o () (@) o o
<t N~ N o O O (&N ToRNTe] o O O [QN] [o6) o) [de) o Al o [QN) o o o o o o () o (o] o < Al O [de] <t o o
N®o S AN ©HsN o esldleo o 09 o eSS oI S ©95 95 9 e N B Ao
™ O O N e — [Te) [Te) [Ye] — ) — [ [§N) N~ (o)) ™ o (V) ™ < — N~ (e} [aV] — [aV) [a\] —
» = — ® | N[N [¥e) — © | — SelE
ar
<
=
~N < ~N < ~N < ~N <
ofl o o} &0 o ol o ofl = WM Wm F 00w a8 ol ol o oW o oW oW ofl
o0} [aV] © [ep] [aV] o [aN] [aV] o0} N [aN] o [aN] o (V] [aV] A [aV] N [aV) N (V)
N — X ¥ — o — - x - — S —- o —_ = = = = = o~ -
AM *x mo QQ *x n.W._ x x q_m._ *x x Ov x _,Mu X *x X x x x x x
or X — B -3 & 3 30 B0 S W oW = o= o oo o o oU of of ol
80 D o 2 52 o 0H o0 o S o o * o O o O O O 9 9 9 9
%0 S ¥ < = < 8 xx 2 8 8 w88 82888 8 8 8 8
¥ ma iy & W s IS o ol o - = o RS R I T
m._ = oI o _lw_ o o - :mo o Yo} (@) o o IﬁA. - o o o o o o o Y]
0d o re) Y S o ISERS) < B S S o o S R - & ® R & «
: S WS bl & _ S S @pe S SR B R SR
A s = o 70 © o 0 Q 5 S ” -
e ; X o m i NSIRSY £ K x
=z | B 1o <+ G+ Al o K ;
O | Kr = 3 o ~ = no
- ok o <+ _ n n
= = = = = 0 00 ol Ot ok o =0 =0
. = = = = or) - H <+ ol I+ H o n No= n =
= M m m m =4 4 o = ol T W F W pd <t
MN S S S wm %o}_ » S %H%%Mﬂ M %mmmw_%égﬁ
— o io o I _ s S S AT R 20 2 D R oW oo of <
% ﬂl»ll, ﬂl»ll, ﬂl»ll, ﬂl»ll, KD = _|_._ =T En_ En_ 10y ﬁ_.m K I _._._._ o K & @r‘_ M
I 0 0 0 of W R e R| T | W @ oo oo OH A W = K ° ® - W <0
. . . . o m m ) W|E | W oa ok T ) OB W oM 3~ RO <m0
- or or or or WD |E 4 Ko <4 Hlow [ 4 e = w4 < W <4 &~ Ao DB
I oD o o o & [R) RO Kk RO R | o) |0F RO O O O R R0 = M0 R D0 R K0 OF o) %0 Ok
k0 |O © @) @) “la [ O © © O|n|< O © ©O ©O M o o o © © O ©o O
. R | = | = - | = o\
— o o o o o
X P I3V
00




AN BYUSMOISH
g FaE=sR

Sl HAURHOE 29 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZF=J dUMER 50,000 =30 122 1,800
OHEAUEZSE AEEH KA
600,000& »12& 7,200
03 &Ar2 Z I 7,000 9,400 A 2,400
Od2 E4dE AJAHE 100,000& »20H 2,000
OS¢ M =20 20,000& x1003l 2,000
OdlLl= 2Z WA 100,000& 20H 2,000
QLA BAEASAHE 100,000& 10 1,000
206 M= Hl 5,000 0 5,000
01 =4l 5,000 0 5,000
OFaY Neggs 28 29 M=l
10,000& 100 *53l 5,000
301 et 8= 26,600 3,050 23,550
09 HALAHIE& S 9,600 3,050 6,550
OFALENEES AXMEAM 100, 000& 62l 600
OBAHES 5 ME =4l
8,000& *1,000& 8,000
OHALAERXNEAN D 4 100,000& =102/ 1,000
MIEEd=s 17,000 0 17,000
OFAY 28 HEEs Z2IY M
70,000& *5J1 203 7,000
OF52 Ml HHl SEME Z208 2ME
100, 000& *5J1 x203] 10,000
405 XHoHF S HI 16,020 23,800 AT,780
01 et EZFH S 16,020 23,800 AT,780
OLEHAESHOT oA WERME D
2,600,000 =3CH 7,800
OYAHFAHESAE W=D 500,000 = 1CH 500
OYNIFAEIESAE =2 NI
350,000 »2JH 700
OYHEFAHUESAY 24 HiolA e WH
195,000& *36 4 7,020
SEEAUESAY 29 XH 71,870 111,010 A 39,140
201 LBt2H| 43,720 38,480 5,240
01 At 22l 16,460 11,460 5,000

S B 500,000& =12& 6,000
O=EE= MH 3,000& *5004 1,500
OFAH T2 (W) ¥ BEHNY 7

36,000& *704 2,520
OF=J Xz 35,0008 2CH x 12 840

g§= 1,500& 400 600

5l
OFAYE MESES XY SX=

500,000& x10=l 5,000

_18_




2N
X ZH -
L= B

el

o
HEAEET

=]

INEISE

A2HE=Z39

NS MOSD

I

| =
T'__%:'

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 22,660 22,420 240
OYEHEAHESAE HIRS
850,000& »12& 10,200
O AHEISAE M3 50,0008 «12& 600
oYst&ei EY ez 170,000& =128 2,040
O&J|etHE e =2 110,000& 128 1,320
Of2&H 9l 180,000& =122 2,160
OEMA 2IZE E49H| 55,000& x12& 660
OQHY AEZ 100,000& =122 1,200
OYEEAHUESAE Al & ZH |XH
240,000 128 2,880
Qo= 23 100,000& = 12& 1,200
OFAYU=HAIL 3l 200,000& »23] 400
03 A2 S HI 4,600 4,600 0
OsY 9MHAIZ HEg8=E 23
1,000, 000& 12| 1,000
OFHZ A EQEz Y 23
200,000& =102l 2,000
ogst EgHE 200,000& *4H 800
OFZJANEZ 2 IH(2E) 800,000 *13 800
206 = Hl 9,000 0 9,000
01 M2 4l 9,000 0 9,000
O=52 M il EQAME Z208 M=l
10,000& 302 203l 6,000
oZs EYME T2 =l
10,000& 30X 103 3,000
301 et a3z 9,950 2,450 7,500
09 &AL HIB &S 2,950 2,450 500
OFEAHE(EY S) MEGAMHS
150,000& =32 450
OFAEXNEA =&AL A W=H|
250,000& »23] 500
OsY HAIZ HEBEE2E =S4l
8,000& 1004 800
OFA~EZ3s2s ME S48 8,000&+150H 1,200
1MIIEBESS 7,000 0 7,000
O=52H UHl EQMEZzIH AME
70,000& x503] 3,500
ogs EENE Z2OY 2AM=
70,000& x503] 3,500
405 XHoHF S HI 9,200 15,500 A 6,300
01 HtatH ESFH S 9,200 15,500 A 6,300
OSYHYHEAHUESAE =S Al 4,000,000 104 4,000




SN BYDSMOSD
=R PNEE

S9 HAESHIT 2Y (S &2)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEEEAEUEHIYY Loy HEZZAEH
2,600,000 »2H 5,200
HAE s O02t0l0l AR XS I &b 1,080 8,640 AT,560
< 216
Al 864
101 @14 dl 1,080 8,640 AT,560
< 216
Al 864
04 DI Z2XNHEE S 1,080 8,640 AT,560
OFAYE ZUSO0IIOI0I SAX M0 HI
90,0003 x1H » 128 1,080
< 216
Al 864
AT dE=SIEH 29 403,869 398,383 5,486
) 180,335
< 38,859
Al 184,675
FAgdEEIME 23 44,304 63,809 A 19,505
101 @124l 7,800 31,755 A 23,955
04 JI2ZtHZ22HEE =+ 7,800 31,755 A 23,955
OFAGEAFA JIE=2 130,000 «5H«12& 7,800
201 Ler24E] 18,608 18,908 A 300
01 At 22l 7,008 7,008 0
OSMEX F 200,000& 128 2,400
o=ZgH EH 7Y 400,000& *33| 1,200
OMEES 7¥ 200,000& =128 2,400
OFAGLAESIEH D &XE
42,0003 20 122 1,008
02 2324l 9,600 8,900 700
oFEAGA&HE=EXMEH HESIH 600,000& 123 600
OFATLUEHH SR, 3323
350,000& 122 4,200
OFAGAGHEH ALEH RXE=H
400,000& 123 4,800
03 A2 Z Hl 2,000 3,000 A1,000
O+=s0l& N3 MIES T2
500,000& »23] 1,000
OSIW A Eefatd sotel Hdgfus
1,000, 000& *13] 1,000
206 M= Hl 5,500 0 5,500
01 M= 4l 5,500 0 5,500
2ons, ¢stZ2H 2% 2
200,000& =102l 2,000

_20_




2N

NS MOSD

M HAE=X
&S FAHMEEXMEH 29 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZGM=E Z MelofdZ203 29 MHZHI
350,000& =103l 3,500
301 et 8= 12,396 7,146 5,250
09 SALAHIEA S 3,576 3,576 0
oNEAge MLNREH SAX
7,000& 21«83 1,176
OZ20y B0 AW AAY|
3,000& 200 +33| 1,800
OFBAHLAEA WFH| 300,000 »2H 600
MIIEEE3 8,820 3,570 5,250
Ot3&Ed 30l 17,000& »21F =103l 3,570
OFAIZ=E & 22X Adeod 2AM=E
350,000& x153] 5,250
NAME HAHSEXNMA AF(EX) 92,300 87,670 4,630
J| 46,150
Al 46,150
101 @124l 62,400 57,338 5,062
J| 31,200
Al 31,200
03 RIHAZ 22+ 62,400 0 62,400
OSEXNHMA HAE MNGA Q12H]|
2,600,000 x2H x12& 62,400
J| 31,200
Al 31,200
201 Let24d] 26,400 26,832 AA432
J| 13,200
Al 13,200
01 At 22l 7,600 8,948 A 1,348
OCYS-Net E22 M= 650% 4,000 2,600
J| 1,300
Al 1,300
OCYS-Net 3l &4A ¢ 50,0003 x12& +63] 3,600
J| 1,800
Al 1,800
OZzIOd 2 M=l 200,000& x73] 1,400
J| 700
Al 700
03 &AL2 I 18,800 17,384 1,416
OCYS-NET OF2t Hela g 300,000& =123l 3,600
J| 1,800
Al 1,800
OfIIEBAY AEYA 23 T2
2,000,000& =13l 2,000
J| 1,000
Al 1,000
OFAEZEM NOILL 29 3,000,000& =13 3,000
J| 1,500




SN BMDSMOSD
=R R PNEES
So AUAESINE 29

=

SA - ZE-B(EA) - NRAY - B S il &t o il
Al 1,500
OFAadelty Z20¥™ 2,000,000& x13] 2,000
J| 1,000
Al 1,000
ORAINZAE HEH 700,000& x53] 3,500
J| 1,750
Al 1,750
OFELEAAGA AtdlE2 29  600,000& *23| 1,200
J| 600
Al 600
ORoietd HE &S 1,000, 000& *13] 1,000
J| 500
Al 500
OCYS-NET At E 13l 2,500,000& x13] 2,500
J| 1,250
Al 1,250
301 LP A 3,500 3,500
J| 1,750
Al 1,750
01 ALl EE 563 500 500
OJSXNAH(LAES, 98, ¥E)
125,000& *43| 500
J| 250
Al 250
09 HALAHIEA S 3,000 3,000
odme s FWA AN
7,000 «285% +5,000& 2,000
J| 1,000
Al 1,000
OsSEX3MAH &S A W=EH 500,000 2H 1,000
J| 500
Al 500
HAHSUN T2 2% (2X) 48,798 48,754
J| 24,399
< 24,399
101 @14 dl 47,376 47,338
J| 23,688
< 23,688
04 DIt Z2Z2XNHEE S 47,376 47,338
OBAW SHI oAyl
1,239,000 *3H 1201 & 44,604
| 22,302
< 22,302
o4l 2= 77,000 x 1200 & +3H 2,772
J| 1,386
< 1,386
301 YBHE A3 1,422 1,416
J| 71

- 22 -




AN BYUSMOISH
g FaE=sR

&S FAHMEEXMEH 29 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 71
09 HALAHIE& S 1,422 1,416 6
OsEXAEAN N SHU 474,000 »3H 1,422
J| 711
< 71
st gt HAd X2 (BX) 119,145 102,000 17,145
p] 83,400
Al 35,745
101 @14l 83,100 75,644 7,456
J| 58,170
Al 24,930
04 D12t 22 HEE = 83,100 75,644 7,456
OStET AW B L AL Q2|
25,000,000 =34 75,000
J| 52,500
Al 22,500
c4liEEg = 225,000 & »3H 1201 & 8,100
J| 5,670
Al 2,430
201 ¢er24] 27,645 20,356 7,289
J| 19,350
Al 8,295
01 At 22l 9,645 4,000 5,645
ONSEE 79 2 RNEH 22
4,145,000& 13| 4,145
J| 2,900
Al 1,245
OLFIDA I QIEIY 2o 2oy
50,000 » 10 &t 500
Jl 350
Al 150
Os2E Mz 5,000,000& 13 5,000
J| 3,500
Al 1,500
03 &AL Z I 18,000 16,356 1,644
OfFtdg dzAgy T2 800,000& 10& 8,000
J| 5,600
Al 2,400
Oy &N L SASIIYE T2IY
1,000,000& »10& 10,000
J| 7,000
Al 3,000
301 et d = 8,400 6,000 2,400
Jl 5,880
Al 2,520
09 HALAHIE& S 8,400 6,000 2,400
O&Y A WsH ZEHI 30,000& x1002 3,000
J| 2,100

_23_




2N

=]

NS MOSD

M HAE=X
SR HAUNYSTHEH 2 (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 900
OMEss & HAZFAHX 24l
250,000& 128 3,000
| 2,100
Al 900
OZF DAl CHHIBE 24lHl 8,000 *10¥ %303 2,400
| 1,680
Al 720
I Had N (sw 8 HLEXJAME ALY) 15,000 15,000 0
< 6,000
Al 9,000
201 L2l 15,000 15,000 0
< 6,000
Al 9,000
03 A2 Z Hl 15,000 15,000 0
OHdE DA SsXAHl 1,000,000& 102 10,000
< 4,000
Al 6,000
OFEY A 2,500,000& »23| 5,000
< 2,000
Al 3,000
StDEe (YT 2A (LX) 52,772 49,600 3,172
| 26,386
Al 26,386
101 124 dl 52,772 49,600 3,172
| 26,386
Al 26,386
4 D12t ZE2XREES 52,772 49,600 3,172
Ostu=0Y FAHAEA 2124H]
, 198,830 »2H « 12 +80& 52,772
| 26,386
Al 26,386
9| HAE X (HAENLS=THE AY) 20,000 20,000 0
= 6,150
Al 13,850
201 LB-2E| 11,200 11,120 80
< 3,510
Al 7,690
01 At 22l 500 0 500
08D PHS U AL FAWE N HYE DY
5,000& 1004 500
< 150
Al 350
03 A2 Z Hl 10,700 11,120 A 420
OsNEHMY THyHAGS 2
800,000 x53| 4,000
< 1,200

_24_




2N

NS MOSD

g FaE=sR
Helr FAE4ESTME 29 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Al 2,800
OXoOtEEFHZ 2EHI 200,000& 10 2,000
< 750
Al 1,250
ONYSAX L MK AT DS
170,000& » 102 1,700
< 510
Al 1,190
O oy Y 2HEANY SAUE 22|
1,000,000 33| 3,000
= 900
Al 2,100
301 et a3z 8,800 8,880 A 80
) 2,640
Al 6,160
09 &AL HIZB &S 4,800 8,880 A 4,080
Ornz Y FOA A & Al XN
102,000& »302] 3,060
< 918
Al 2,142
OstW =g &aEA WF08l 50,000 x93 2 900
& 270
Al 630
O TUASAL &5 =4HI
7,000& x20E «63] 840
= 252
Al 588
NJIEEd=s 4,000 0 4,000
ooldaer Y AEAN HE Z208 ZAE
100,000& 402 4,000
=) 1,200
Al 2,800
20 HAYE KNI (HLAHMGSXHE SAA M2 11,550 11,550 0
&)
< 2,310
Al 9,240
101 @124l 11,550 11,550 0
=) 2,310
Al 9,240
04 JI12ZtHZ22HEE = 11,550 11,550 0
OFLEHAEA MR &
105,000 10 112 11,550
< 2,310
Al 9,240
HFAEESAE HE 700,000 0 700,000
Xl 350,000
Al 350,000
SOUHAESSIT HY(Z) 700,000 0 700,000

_25_




SN BMDSMOISY
=R PNEES

el Bauesolw 2 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 350,000
Al 350,000
401 Al HIZ 201 I 700,000 0 700,000
X 350,000
Al 350,000
01 A& HI 695,590 0 695,590
CEEE PREEL- LTRSS
615,590,000 =104 2 615,590
X 307,795
Al 307,795
OJla AAEAH 84 80,000,000% 104 & 80,000
Xl 40,000
Al 40,000
03 Al 2 THHI 4,410 0 4,410
CETTE-PYEEL T EESS
700,000,000& *0.63% 4,410
Xl 2,205
Al 2,205
MOtS Ea & 2,875,709 2,677,961 197,748
< 22,802
Al 2,852,907
Co FHa aF 1,680,109 1,531,161 148,948
< 22,802
Al 1,657,307
OrSsl2t s 2 B AtY 508,000 354,000 154,000
201 Let2d] 50,000 3,000 47,000
01 At 22l 50,000 3,000 47,000
O g&l1s SU3S D23 diig X
50,000,000 =104 2 50,000
402 RIZ2EX20l A 458,000 336,000 122,000
01 U2 E2AILE X (KA 458,000 336,000 122,000
O U9 s=32 ots3& x5
200,000,000& *1JH £ 200,000
O WEsXH Atd2el OS2 &5
21,000,000 * 104 2 21,000
O dEHA 12 OIS B85
45,000,000 * 10 2 45,000
O g4dg5 Il Dissl& HES (=)
5,000,000& 14 & 5,000
O 1Y 512l =& JIsEL
5,000,000 =104 2 5,000
O LUy 522 OtS3& HES
19,000,000 * 10 2 19,000
O 1Y tE2el s JIsEd
5,000,000 » 104 2 5,000
© DY d21e OS2 JIsEY
5,000,000 * 104 2 5,000
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SN BMDSMOISD
HE: MOlE B BY
S o A 13

IUIO

SN SAGEA) - MRALY - BES 0l &t o

O 0y A22e| 232 JIsEH

5,000,000 14 & 5,000
©O DY gamZie OtS3& HE=>

10,000,000& =100 A& 10,000
O DY =&l oS3 JIseEd

5,000,000 « 14 & 5,000
O N0 =gz s JIsEH

5,000,000 14 & 5,000
O A=29% ¥ngeel O3 JIsEd

5,000,000 14 & 5,000
O A2Y% UXx1el oS3 JIsEd

5,000,000 14 & 5,000
© F0IYH Eael oS3 e &4x

6,000,000 14 & 6,000
© F0IH #o1el orsSsl2 e

20,000,000 174 2 20,000
© H&EH Xoiiel OrSsl2 e 2 JIsE

B 6,000,000 =104 2 6,000

O HEd g21cl S JIsEH

3,000,000 « 14 & 3,000
O =49 Zite| oS3 JIsed

5,000,000 « 14 & 5,000
O =488 SAicl S22 JIsEH

2,000,000 « 104 & 2,000
O =488 =432 =232 JIsEH

1,000,000 174 &~ 1,000
O =480 d=1c| =232 JIsEH

5,000,000 104 & 5,000
O =40 d=22c =232 JIsEH

2,000,000 * 104 & 2,000
O =49% otxtel Ots3 & JIseEd

5,000,000 174 & 5,000
O =48H 23512l =232 JIsEH

3,000,000 « 104 & 3,000
O &EH & Ots3& JIs:Ed

5,000,000 104 & 5,000
O &4H 22 OS2 HE=S

10,000,000& * 100 A& 10,000
OAEH BtZe OtS3 2 HE=S

10,000,000& * 100 A 10,000
Ogd2E M26S O3l JIsEL

3,000,000 104 2~ 3,000
Ogd2E M28S O3l JIsEL

5,000,000 104 2~ 5,000
Ogd3s ¥Y5s OtS3l& JIsEL

5,000,000 174 2~ 5,000
O35 Axiel BHEBEX

9,000,000 174 2~ 9,000
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S M DS MO
M MOHES

?:Eo Ha

ot
of

S

». UOJ' o

(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OFQ0H 2ME OS2 Jsed
5,000,000 *1JH & 5,000
O=NH =2 OS2 Jlsed
5,000,000 * 100 & 5,000
oOsdgs 2222 O3 MHES
3,000,000 *1JH & 3,000
SCOMOIE AU X& 35,457 35,451 6
= 7,652
Al 27,805
307 2Iz2t0| & 35,457 35,451 6
= 7,652
Al 27,805
02 QI AAIE E X 35,457 35,451 6
OZoMOIS ESUAX I AdXE
420,000€ 103 4,200
O MOIS RE L= 2,550,7002 *103] 25,507
& 7,652
Al 17,855
OEQJMOIE NS 29 1,150, 000& 53| 5,750
MOISCSH K& 269,780 280,780 A 11,000
201 et | 9,180 9,180 0
01 AFR 2t 2| bl 7,280 7,280 0
OMOIE J] RY(SHsS HHER)
300,000 140 SHS 4,200
24 MOISXZXF E=IH M
77,000 20 23| 3,080
02 332%H| 1,000 1,000 0
OMOISDl HAILH KX2 500,000 204 &~ 1,000
03 A2 H H| 900 900 0
OMOISXNE X =& 2HE3) 20,000& «45H 900
307 QI2t0| ™ 210,600 221,600 A 11,000
02 QI2tAAMAIE E =X 19,000 8,000 11,000
OMOIE2 & HI# ot& X1& 0l
4,000,000 1 SHA 4,000
OOt etHZESH=2S
15,000,000 =1 S| 15,000
03 UAHHEESIHES 130,000 130,000 0
OMOIS2sSE&AIXNE 29|
5,000,000« 12& 60,000
OMNMOl=2s SHSE23 24|
5,000,000 1401 SHS=S 70,000
04 CIZ2tSHALALS B X 61,600 83,600 A 22,000
OAXHHEHS AMIE RS HEAXNEXN WF
1,600, 000& x 14! 1,600
OMOIS210 28 J|#H 2,500,000& x23| 5,000
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X ZH -
L= B
el

BMDSMOIS
MO HA &2k
S o HA DI

=]

)I

— SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMOIEZX & =83l 20,000,000& x13] 20,000
OMOIESX T d=03l 5,000,000& =13l 5,000
OMOIESXNEA & EAMs 5,000,000 *13] 5,000
oA & g1 4,000,000& *23| 8,000
OMOIE2 & 2184l 7,000,000& x13] 7,000
OMDOIE NEX AEde =S
10,000, 000& 13| 10,000
402 BIZHXHE0I A 50,000 50,000 0
01 2IZEH 2 A B (KM &) 50,000 50,000 0
OMOISE o2 ASSUHAEY
10,000, 000& *53| 50,000
HEAdII2s2H XA 102,477 127,485 A 25,008
201 LBH2E| 2,377 2,385 A8
01 At 2t 2|l 2,377 2,385 A8
OHtEAH &I I 2 2,300,000& x13] 2,300
OREA EEIH M 77,0003 x1H 77
307 gl2tol & 100,100 125,100 225,000
03 BIZIHHEE 2ZHIEX 80,000 80,000 0
OHtEAHAII2S Al €23 294
3,750,000& =123l 45,000
otHt2AalI2Es S¥HsS 23 29|
2,500,000& 140 SHS 35,000
04 DIZHHALALSE E X 20,100 15,100 5,000
OoHIZAHAII2S & =EHU
5,000,000& =13l 5,000
otHt2AalI2Es & d32UH3
3,600,000& =13l 3,600
otHt2AHaII2Es SE3d HEUHS
1,500, 000& * 13| 1,500
OO0l Edu= 1,000,000& * 103l 10,000
202 MEE2S 572,945 571,445 1,500
201 LBH2E| 14,545 14,545 0
01 At 22l 12,545 12,545 0
o=clltSANg2s =0t BN M=
77,000 +850t = 6,545
O=<clisAzE2E 22X S EE2 MHE
15,000& * 1002 * 13| 1,500
O<cIOISAE2S AFZLA & =DM M
5, 000%*300 *33] 4,500
03 A2 Z Hl 2,000 2,000 0
O=cI0tSAE2s "It 2HX 243
20,0003 x50 *23| 2,000
301 LEtE A= 168,900 167,400 1,500
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2N
X ZH -
L= B

el

NS MOSD
MOtES Ea g
Co o 1%

bl

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 1,400 1,400 0
O=cIOtSAE2S EItA 4 N
7,000 x5 20 x23] 1,400
NMIIEEd=s 167,500 166,000 1,500
Ll EME2ES 202 A&
2,620,000& =624 2/+60,000& 162,500
SCIOQEME2S BIRIE 224
100, 000& x5H 52«23 5,000
402 RI2HX=20l M 389,500 389,500 0
01 2I2F 2 A B (KR ) 389,500 389,500 0
O=cIDtSAMEE2S 2202 AL 32
389,500,000 =14l 389,500
AH JERI AR 146,000 126,000 20,000
101 1A Hl 35,000 35,000 0
04 JIZHHZ2Z2XNESE+ 35,000 35,000 0
OF2 T2Y 224 JtRI| MY
2,000,000 50 S8 = 10,000
OAIAH JbRI ALY 5,000,000 50 S®S 25,000
206 M= Hl 71,000 71,000 0
01 =4l 71,000 71,000 0
OAIH JtRII AL 3,000,000 50 &%= 15,000
OOtELE AHZE 22 24
4,000,000& 140 S8 = 56,000
401 AIEHI L 201 40,000 20,000 20,000
01 A& HI 40,000 20,000 20,000
OMOISAEES A % 2=
10,000,000 *20H A 20,000
OMOts Z34 LN € EX& £X
20,000,000 * 104 2 20,000
MOIEXIEXR Ea3 45,450 30,000 15,450
< 15,150
Al 30,300
301 et a3z 45,450 30,000 15,450
< 15,150
Al 30,300
02 Zet=et k= 45,450 30,000 15,450
OMOISXNEXR JHEHEEZ X
45,450,000& =13 45,450
< 15,150
Al 30,300
MOtS SESH(MOISASAE2IEE s H) 1,195,600 1,146,800 48,800
MOIE=2ASXRI13 1,200 1,600 A 400
201 L4l 1,200 1,600 A 400
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SN BMDSMOISY
Ha: MOIS B BY

©el: MOtE2 SE3H(MOISASML2ISES)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 1,200 1,600 A 400
OS=XA&SAF SHUSE ===
300, 000& 3 900
OMEXN MULFS JIEE =22
100, 000& 3 300
OlHIbl (MOISASAE2ESEs H) 1,194,400 1,145,200 49,200
801 Gl Hl bl 1,194,400 1,145,200 49,200
01 BHoil bl bl 1,194,400 1,145,200 49,200
Ol bl 1,194,400, 000& 1,194,400
HH2IYZH (BN MOIS D) 57,684 50,268 7,416
Jl2Zdl 57,684 50,268 7,416
22 AH| 51,264 46,068 5,196
201 £B-2dH| 22,464 19,668 2,796
01 At 22l 22,464 19,668 2,796
O= &l 8,000& x12F 7L 128 8,064
oY=t 100,000& =12 128 14,400
202 04l 28,800 26,400 2,400
01 = LHA YI 28,800 26,400 2,400
Oge+8 EF W 200,000& x12H «x12& 28,800
2R =&l 6,420 4,200 2,220
203 YR =&l 5,220 3,000 2,220
04 FN2ELRZ=TH| 5,220 3,000 2,220
ORNM2IYRFLH 435,000& x12& 5,220
204 AR AH| 1,200 1,200 0
01 Mg 1,200 1,200 0
oAM= HH| 100,000& =122 1,200
HWREsS(HMDS MOS0 207,360 161,280 46,080
HEHHKE 207,360 161,280 46,080
StNadsEeg dHHE EX 207,360 161,280 46,080
701 JIEtSI HEXTES 207,360 161,280 46,080
02 BILELIHNZINEES 207,360 161,280 46,080
Oadt+E B3I &2 (23Mw XH)
320,000& 548 x12& 207,360




